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General Instructions

L]

(52

Pagadal tiy

The question paper comprises of two Sections, A and B. You are to-attempt both: the
suclions.

+ All questions are compulsory \
. All questions of Section-A and all questions of Section-B are to bealtampted separately.
. Question numbers 1 to 3 in Section-A are one mark questions, These are to be answered in

one word or in one sentence

. Cuestion numbers 4 t0 6 in Seclions-A are two marks questiong. These are Lo be answared

i about 30 words each.

o Qiwestion numbers 7 to 18 in Secdon-A are three marks guestions. These are fo be

answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks guestions, These are to be
answered in about 70 words cach.

Ueston nunibers 25 (o 33 in Section-B are multiple: choice questions based on practical
skills, Faely question is a one mark guestion. You are (o select one most approprialy
response out of the four provided to vou,

- Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

Jucstion s of two marks.
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The brakes applied to acar praduce an acceferation of 6 ms ~ 2 in the oppesie direction to the motion.
If the car takes 2 s to stop after the application of brakes, calculzate the distance it travels during this
time.

(a)  State Newton's Sccond Law of Moton.
() How does a kung fu master breaks pile of tles with a blow from his head ?

Explain it mathematically.
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India is a country with three fourth of the population engaged in agriculture. Even though
tinancial conditions of some farmers do allow them to take higher level farming practices and
improved agriculture technology, yet they are hesitant to use of HYV seeds with traits such as

resistance to disease and pests, high quality that would results finally in higher vield. The
Government's Kisan channel solved all thewr apprehensions.

(1) ‘What is meant by genetically modified crops ?
(ii) What are the desired agronomic characters for fodder and cereal crops ?

(iii)  In vour opinion what sheuld be done so that the modern agriculture technology is
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{b) : light and dark bands, uninucleated
(c)  long. branched fibres, multinucleated
(d) light and dark bands, multinucleated
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A iixture of common salt and sand can be separated by using the solvent. :
(a) oil ()  ghee

{g) water {d) petrel
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() TTET 1 FEA > T - 2 EHE

(b)  TEH 1 EHEA < UHT - 2 TR R

(c) TEE] 19T BAN = T - 2 g |

(d)  TEF 1 EEAE = T - 2 REAE §

In an experiment two wooden blocks are used with the same setup. The force applied to just
begin to move for block - T was 0.5 N and for block - 2 was found to be 0.9 N, This means that

(@) Mass of block - 1 = mass of block - 2
(b) Mass of block - 1 < mass of block - 2

(c) Mass of block - 1 = mass of block -2
(d)  Massof block - 12 massof block -2
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A mixture of sand, chalk powder and common salt is dissclved in water and then filtered,

Name the substance left on filter paper. Name the substance in the filtrate,
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